First Shot Photo & Carriage

Item Price List

March 1, 2009

Item Description Price
01-101 1" AXLE TO FIT HUB #20-986 60.00
01-101S8 1" AXLE STUB WITH BEARINGS..FITS HUB # 20-986 25.00
01-104 1 1/4 AXLE WITH BEARINGS 95.00
01-107S 11/2 STUB WITH BEARINGS 58.00
01-762 1" AXLE WITH BEARINGS 60.00
01-763 1" AXLE STUB WITH BEARINGS & SEAL 18.00
01-792 2" CANNON AXLE WITH BOXINGS AND PINS 350.00
01-910 7/8 AXLE ONLY 35.10
01-911 7/8 AXLE STUBS 12.68
01-912 7/8 AXLE WITH BEARINGS 60.84
01-913 7/8 STUB AXLE WITH BEARINGS 25.74
01-922 11/8 AXLE WITH BEARINGS 70.00
01-923 11/8 STUB AXLE WITH BEARINGS..FITS HUB 20-... 24.50
01-932 1 1/4 AXLE TO FIT HUB 20-987.. WITH BEARING... 87.00
01-933 1-933 1 1/4 STUB AXLE WITH BEARINGS.. HUB # ... 40.00
01-937 11/2 F.A. AXLE FITS HUB #20-987 125.00
02-128 BEARING SET FOR 1" AXLE..FOR 4 WHEELS 30.00
02-138 OIL SEAL FOR 1" AXLE 3.00
02-139 OIL SEAL 1"AXLE ALL RUBBER 6.00
02-328 BOXINGS FOR ROLLER BEARINGS 1",11/8" 11/4" 24.00
02-420 BOXING FOR ROLLER BEARINGS 1 1/2 35.25
02-916 OIL SEAL 7/8 AXLE 3.00
02-939 Bearing set 1 1/4 axle ..one wheel 17.44
03-113 1" OLD STYLE BOXING 0.00
03-116 OLD STYLE AXLE STUB WITH BOXING 36.50
03-159 LEATHER AXLE WASHER COIL 3.50
03-237 SHAFT REPAIR ENDS HORSE SIZE EA. 15.75
03-314 CASTLE NUTS 3.00
03-652 LEATHER WASHERS CUT TO FIT 4.00
03-791 11/2 AXLE WITH WASHERS, LYNCH PIN, BOXINGS 175.00
03-792 2" AXLE, WASHERS, LYNCH PINS & BOXINGS 365.00
03-794 LYNCH PIN 18.50
03-795 BOXINGS FOR 1 1/2 CANNON AXLE 34.00
03-877 AXLE NUT OLD STYLE 18.50
03-959 11/8 OLD STYLE AXLE WITH BOXINGS 84.00
04-221-38 SHAFT EYES 6.90
04-222-38 SHAFT COUPLERS 3/8 BOLT 16.00
04-222-76 SHAFT COUPLERS 7/8 BOLT 16.00
04-550 BRADLEY SHAFT COUPLING SOCKET 53.70
04-551 BRADLEY SHAFT COUPLER BALL 7/8 12.00
04-553 BRADLEY SHAFT PACKING 1.00
04-614 SHAFT BOXES FOR 1" AXLE 10.00
04-711 BRADLEY SHAFT COUPLINGS PONY OR SINGLE ... 36.40
04-713 BRADLEY SHAFT 3/4 BALL 12.00
04-A001 SHAFT BOX FOR 1 1/8 AXLE 4.00
05-020 2" AXLE CLIP 1.98
05-025 2 1/2' AXLE CLIP' 1.98
05-030 3" AXLE CLIP 1.80
05-035 3 1/2" AXLE CLIP 2.00
05-040 4" AXLE CLIP 1.80
05-045 4 1/2" AXLE CLIP 2.00
05-050 5" AXLE CLIP 2.00
05-055 51/2 AXLE CLIP 1.80
05-060 6 6" AXLE CLIP 1.80
05-070 7" AXLE CLIP 2.00
05-091 1" CLIP BAR 0.55
05-092 11/2" CLIP BAR 0.55
05-094 1 1/4" CLIP BAR 0.55
05-098 1 1/8"CLIP BARS 0.75
05-216 ROLLER RUB IRONS MALLEABLE 9.25
05-217 BODY HANGERS STRAIGHT 14.00
05-596 ANGLED STEEL RUB IRON 26.00
05-644 PERCH CLIP 4" 1.80
05-645 PERCH CLIP 4 1/2" 1.90
05-833 WIRE LOCK PIN 3/8 X 2 1/2 2.50
06-215B HEAVY FOOTMAN LOOP BRASS 1.50
06-238 TUG STOP BRASS PR 27.50

8:57 AM
03/01/09

Page 1



First Shot Photo & Carriage

Item Price List

March 1, 2009

Item Description Price
06-239 SINGLE TREE CASTORS 4.95
06-240 SINGLE TREE YOKE 4.60
06-250 HOLD BACK IRONS PR. 1.68
06-251 FOOTMAN LOOP CADIUM PLATED PR. 3.00
06-251B HEAVY BRASS FOOTMAN LOOP 3.50
06-262 FOOTMAN LOOPS 1 1/2 STEEL PR. 3.00
06-294 TEE PLATES 1/4 50 COUNT BOX 14.25
06-295 TEE PLATES 5/16 50COUNT BOX 14.25
06-534 DOUBLE TREE CLEVIS 7.95
06-555 HOLD BACK IRONS BRASS PR. 20.15
07-001 CHAIN SWIVEL HOOKS 1" OPENING PR. 24.70
07-093 BEARING FOR 1" FA AXLE LARGE 6.00
07-252 TRACE HOLDER BRASS 3" X 1 1/2 8.60
07-253 SINGLE TREE HOOK PR. BRASS 5.00
07-254-1 SINGLE TREE FERRULES 1" PR. 3.75
07-254-78 SINGLE TREE FERRULES 7/8" PR. 3.75
07-451 TRACE CLIPS PAIR 3.50
07-640 BRASS TRACE HOLDER PR 12.25
07-654 WIFFLE TREE ENDS POLISHED Brass 22.10
07-663 YOKE AND SWIVEL FOR WIFFLE TREE 37.70
07-664 WIFFLE TREE ENDS CHROME 1 1/4 PR. 31.50
07-731 CHAIN HOOK PAIR 5.75
07-735 CHAIN HOOK IRONS PR. 7.50
07-853 SINGLE TREE ENDS POLISHED BRASS..1 1/6 OP... 25.00
07-900 CHAIN SWIVEL HOOKS PR. 40.00
08-041 CHROME PLATED SHAFT TIPS 1" PR. 6.00
08-047 SHAFT TIP 7/8 STAMPED STEEL 6.00
08-236 SHAFT REPAIR ENDS PONY SIZE 12.00
08-238 TUG STOPS BRASS CURVED PR. 48.00
08-340 1 1/4 POLISHED BRASS SHAFT TIPS PR. 21.00
08-341 1" SHAFT TIP CHROME PR. 5.00
08-347 MACHINED BRASS SHAFT TIP 7/8 PR. 12.00
08-348 1 1/8 POLISHED BRASS SHAFT TIP PR. 12.00
08-641 1" STAMPED BRASS TIP 9.00
08-647 7/8 STAMPED BRASS SHAFT TIP PR 9.00
08-700 TRACE BOLTS 7/16 X4 PR. 22.00
08-740 1 1/4 SHAFT TIP MACHINED STEEL CHROME PR. 13.00
08-741 1" CHROME SHAFT TIP PR. 11.00
08-748 11/8 STEEL TIP 9.00
09-445P POLE END CAP POLISHED BRASS 1 1/4 18.00
0S-164 STAY LOOP BRASS 3.25
0S-175 PATENT LEATHER SHAFT KIT 15.00
10-215 BUGGY STEP ROUND 12.00
10-300 LARGE BUGGY STEP 31.00
10-565 WAGON STEP (MALLEABLE IRON) 16.50
10-603 WOODEN BUGGY JACK 25.95
10-608 AXLE STEP 13.25
10-A05 BUGGY JACK 40.00
11-453 SPOKE POINTER 2" 35.00
11-454 AXLE GAGE 162.00
11-467 REPLACEMENT KNIFE FOR 11-A04 13.13
11-539 ADJUSTABLE WRENCH 49.50
11-630 MEASURING WHEEL 39.00
11-A04 SPOKE POINTER 4 59.90
11-A34 REPLACEMENT BLADE FOR 11-A04 SPOKE POIN... 24.25
12-010 SINGLE PERCH FIFTH WHEEL.. 5/16 STEEL 39.00
12-013 DOUBLE PERCH FIFTH WHEEL 12" 79.95
12-230 9" PONY FIFTH WHEEL FULL CIRCLE 53.75
12-B30 FIFTH WHEEL 18" STEEL 34 1/2 SPRING MOUNTS 268.00
13-032 WOODEN SPRING BLOCK 1 1/4 AXLE PR. 7.50
13-617 SPRING BLOCK 1" AXLE TO 1 1/2 SPRING 8.00
13-708 FIFTH WHEEL DOUBLE PERCH .. DUCTILE IRON 70.95
13-717 CAST SPRING BLOCK 1 1/8 AXLE 1 1/2 SPRING 15.00
14-242 11/4 x 4 ply x 36" 65.35
14-243 11/4 X5 PLY X 36 BUGGY SPRING 69.25
14-244 11/2 X4 PLY X 36" SPRING 60.00
14-245 11/2x 5 ply x 36 75.40

8:57 AM
03/01/09

Page 2



First Shot Photo & Carriage

Item Price List

March 1, 2009

Item Description Price
14-246 11/4 X 4 PLY X 26" 66.75
14-285 11/2X36 X5PLY ..HALF ELEPTIC SPRING 65.00
14-349 11/4 X4 PLY X 30" BUGGY SPRING 55.25
14-350 11/4 X5 PLY X 30" 62.40
14-351 11/2 X 5PLY X 30" 65.65
14-352 11/2 X4 PLY X 30" 67.60
14-355 11/2 X6 PLY X 36" 88.25
14-502 11/4 x2x 20 seat spring 51.00
14-503 WAGON SEAT SPRING 1 1/4 X 3/16 48.00
14-504 WAGON SEAT SPRING 1 1/4 X 1/4 56.00
14-504-3 11/4 X 3 X 24" 3PLY HD SEAT SPRING 52.00
14-965 BUGGY SPRING 1 1/4 X 3PLY X 30" 55.90
14-966H 11/4 X 3PLY X 36" WITH 3 HOLES IN TOP 60.00
14-968 11/2 X4 PLY X 26" 70.50
14-969 11/2X5PLY X 36" 72.40
14-970 11/2 X 8 PLY X 36" 102.00
15-279 HELPER SPRING FOR 1 1/4 OR 1 1/2 SPRINGS 9.00
15-429 HEAVY FOLDING SEAT BACK IRONS 32.50
15-531 FOLDING CART SEAT IRONS PR. 31.00
15-715 SEAT SPRING HANGER 1 PR 9.50
15-717 CAST SPRING BLOCK 1 1/8 AXLE 14.00
15-815 CORNER BRACES FOR WAGON SEATS 4.40
15-B04 15-B04 SEAT LATCH SET 18.50
16-266B GRAB HANDLE PR..UNPOLISHED BRASS 15.00
16-266BP GRAB HANDLE BRASS POLISHED 18.50
16-267 GRAB HANDLES CHROME 22.50
17-249 TAILGATE SPRING LATCH 19.75
17-265 DOUBLE ACTION SASH LOCK CHROME 5.00
17-448 CHUCK BOX LATCH (malleable iron).. 2 HOOKS &... 17.50
17-626 BAR LATCH PR. 9.00
17-822 HINGE POLISHED BRASS PR. 12.50
18-439 SHAFT BELLS PR. 72.00
18-439A SHAFT BELLS 91.00
18-570 SADDLE BELLS 78.00
18-704 BRASS CRESCENT EAGLE HEAD PR. 18.00
18-714 BRASS REIN RAIL 48.50
18-844 REIN HOLDER BRASS 18.00
18-914 CENTER POST FOR REIN RAIL 10.85
19--256-10 1/4 X 1 WAGON BOX RIVET 4.50
19-247 FIFTH WHEEL BOLT 5/16 X 4 0.65
19-256-02 3/16 X 2 TRUSS HEAD 5.50
19-256-03 3/16 X 3 TRUSS HEAD RIVETS 4.75
19-256-10 1/4 X 1" WAGON BOX RIVET 4.50
19-256-12 3/16 X 1 1/2 TRUSS HEAD RIVETS 5.15
19-256-14 1/4 X 1 1/2 WAGON BOX RIVETS 4.50
19-256-20 1/4 X2 WAGON BOX RIVETS 0.15
19-256-30 1/4 X 3 WAGON BOX RIVETS 4.50
19-256-40 1/4 X 4 TRUSS HEAD RIVET 4.50
19-257-34 1/8 X 1 3/4 TRUSS HEAD RIVETS 21.00
19-258-02 3/16 X 2 ROUND HEAD RIVETS 4.50
19-258-05 ROUND HEAD RIVETS 3/16 X 5 4.50
19-258-14 1/4 X 1 1/2 ROUND HEAD RIVETS 0.10
19-258-16 5/16 X 3 TRUSS HEAD 4.50
19-258-20 1/4 X 2 ROUND HEAD RIVET 6.95
19-258-30 1/4 X 3 ROUND HEAD RIVETS 0.15
19-258-76 ROUND HEAD RIVETS 7/16 X 4 4.50
19-259-20 TIRE BOLT 0.15
19-259-24 3/16 X 2 1/4 TIRE BOLT 0.30
19-260-18 FLAT WASHER 1/8 1.80
19-289 TIRE BOLT 1/4 X 3 0.21
19-512-0 1/4 " RIVET SET 23.00
19-512-00 5/16 RIVET SET 23.00
19-512-2 RIVET SET 3/16 21.00
19-512-6 RIVET SET 1/8 18.00
19-547 3/8 X4 1/2 TIRE BOLT 0.50
19-863 3/16 BURS 3.20
19-864 1/4 BUR WASHER 3.60

8:57 AM
03/01/09

Page 3



First Shot Photo & Carriage 8:57 AM

Item Price List 03/01/09
March 1, 2009

Item Description Price
20-243 1" SARVEN SPOKE 1" 1.93
20-243 1 1/8 SARVEN SPOKE 1 1/8 2.00
20-243 1 3/8 SARVEN SPOKE 1 3/8 2.60
20-42111/2X11/2X 44 11/2 X 1/1/2 X 44 FELLOES 17.90
20-42111/2X 2 X 44 11/2 X2 X 44 FELLOES 60.00
20-42111/4 X 1 3/8 X 38 11/4 X 13/8 X 38 FELLOES 12.00
20-42111/4 X 1 3/8 X 42 11/4 X 13/8 X 42 FELLOES 12.00
20-42111/8 X1 3/8 BENT HICKORY FELLOES 1 1/8 X 1 3/8 34" 11.10
20-42111/8 X 1 3/8 X 36 11/8 X 13/8 X 36 FELLOES 22.00
20-421 1 1/8 X 1 3/8 X 40 11/8 X 1 3/8 X 40 FELLOES 22.00
20-42111/8 X 1 3/8 X 42 11/8 X 13/8 X 42 FELLOES 22.00
20-42111/8 X 1 3/8 X 44 11/8 X 1 3/8 X 44 FELLOES 22.00
20-421 1 3/4x2 1/8 x 44 13/4 x21/8 x 44 FELLOES 50.00
20-42113/4 X 2 X 44 13/4 X2 X 44 FELLOES 60.00
20-421 1 3/4 X 2 X 52 13/4 X2 X 52 FELLOES 83.00
20-4211X11/4 1X11/4 12.00
20-4211X11/4 X 34 1X11/4 X 34 FELLOES 18.00
20-4211X11/4 X 36 1X11/4 X 36 FELLOES 22.00
20-4211 X 1/4 X 38 1 X 11/4 X 38 FELLOES 18.00
20-42121/2X 13/4 X 38 21/2 X1 3/4 X 38 FELLOES 60.00
20-42121/2X2X 30 21/2 X2 X 30 FELLOES 65.00
20-42121/2X 2 X 40 21/2 X2 X 40 FELLOES 65.00
20-42121/2 X2 X 42 21/2 X 13/4 X 42 FELLOES 60.00
20-421 2 3/4 X 1 3/4 X 52 2 3/4 X 1 3/4 X 52 FELLOES 60.00
20-4212 X2 X 36 2 X2 X 36 FELLOES 35.75
20-4212 X2 X 38 2 X2 X 38 FELLOES 36.00
20-4212 X2 X 42 2 X2 X42 FELLOES 29.70
20-4212 X2 X 44 2 X2 X 44 FELLOES 36.00
20-42137/8 X2 1/4 X 34 37/8X21/4 X34 FELLOE 37.70
20-421 3 X 1 3/4 34 3 X 13/4 X34 FELLOES 45.00
20-421 3 X1 3/4 X 36 3 X 13/4 X 36 FELLOES 45.00
20-421 3 X1 3/4 X 38 3 X 13/4 X 38 FELLOES 45.00
20-421 3 X1 3/4 X 44 3X13/4X 44 FELLOES 45.00
20-421 3 X 1 3/4 X 46 3 X 13/4 X 46 FELLOES 50.00
20-421 3 X 1 3/4 X 48 3 X 13/4 48 FELLOES 50.00
20-421 3 X 1 3/4 X 52 3 X 13/4 X52FELLOES 55.00
20-4213 X2 X 38 3 X2 X 38FELLOES 60.00
20-4213 X2 X 40 3 X2X40 FELLOES 45.00
20-4213X2X 42 3X2X42FELLOES 50.00
20-4213 X2 X 44 3 X2X44 FELLOES 45.00
20-421 3 X2 X 46 3X2X46 FELLOES 65.00
20-4213 X2 X 48 3X2X48 FELLOES 50.00
20-4214X21/4 X 34 4 X21/4 X 34 FELLOES 50.00
20-4214 X2 X 34 4 X2 X 34 FELLOES 50.00
20-422-1 1/2 11/2 WOODEN HUB SPOKE 3.50
20-422-1 1/4 1 1/4 WOODEN HUB SPOKE 2.31
20-422-1 1/8 11/8 WH SPOKE 2.05
20-422-1 3/8 13/8 WH SPOKE 2.73
20-422-1" 1" WH SPOKE 1.93
20-422 21/4X22 21/4 X 22 X 3 /4 WH SPOKE 8.00
20-422 2 1/2 x 22 x 3/4 21/2 x 22 x 3/4 WH SPOKE 16.00
20-422 2 1/4 X 24 X 3/4 2 1/4 24 X 3/4 WH SPOKE 7.00
20-422 2 1/4 X 3/4 X 26 21/4 X 3/4 X 26" WH SPOKE 6.00
20-422 2 1/4x24x3/4 2 1/4 X 24 X 3/4 WH SPOKE 8.00
20-4222 3/8 x 7/8 2 3/8 x 22 x 7/8 WH SPOKE 18.00
20-4222 3/8 X 7/8 X 26 2 3/8 X 7/8 X 26 WH SPOKE 7.00
20-422 2 5/8 X 3/4 X 22 2 5/8 X 3/4 X 22 WH SPOKE 7.00
20-422 2 X 3/4 X 22 2 X 3/4 X 22 WH SPOKE 6.00
20-422 2 X 5/8 X 22 2 X 5/8 X 22 WH SPOKE 6.00
20-422 3 x 1 3" X 1" TENON SPOKE 15.00
20-4223x11/8 3" X 1 1/8 TENON SPOKE 12.50
20-423 SARVEN SPOKE 0.00
20-423 1 1/4 SARVEN SPOKE 1 1/4" 0.00
20-424 WARNER SPOKES 2.50
20-426 BOLTED HUB SPOKE 2.00
20-985 SARVEN HUBS 2" 80.00
20-985-1 1" SARVEN HUB CORE 28.25

Page 4



First Shot Photo & Carriage 8:57 AM

Item Price List 03/01/09
March 1, 2009

Item Description Price
20-986 BOLTED HUB FIT AXLE #1-101,1-922,1-104 38.00
20-987 BOLTED HUB 1 1/2- 1 3/4 SPOKE..STUB AXLE # 1-... 76.00
21-123 HUB CAP STEEL FITS HUB 20-986 & 20-998 2.80
21-123B BRASS HUB CAP FOR 20-986 & 20-996 12.50
21-123C HUB CAP FITS 20-986 & 20-996 12.50
21-209 FELLOW PLATE 25/8 X1 1/2 1.50
21-209A FELLOW PLATE LARGE WITH LIP 0.25
21-235-12 SPOKE WEDGE 1/2" 20.00
21-738 LARGE FELLOE PLATES WITH LIP 0.50
21-955 BRASS CAP FITS HUB 20-987 & 20-988 15.00
21-P12 PUSH CART HUB 12 SPOKE 28.00
24-058 5/8 X 3/8 X 20 FT. OVAL STEEL 18.00
24-441-38 REED TRIM 38" 15.00
25-018-2 BENT HEEL SHAFT IRONS 3/8 EYE 48.00
25-019A SHAFT IRON FOR DOUBLE BEND SHAFTS 7/8 EYE 50.00
25-019B IRONS FOR DOUBLE BEND SHAFT 7/8 BALL 54.50
25-028-2 BENT HEEL SHAFT IRONS 7/8 BALL 52.00
25-058-2 SHAFT IRONS 7/8 BALL 52.00
25-218B BENT HEEL SHAFTS WITH CROSS PIECE 65.00
25-218C BENT HEEL SHAFTS WITH CROSS PIECE..1 1/2 X... 0.00
25-219 DOUBLE BENT SHAFTS 76" TIP TO CROSS PIECE 75.00
25-219P DOUBLE BEND PONY SHAFTS 80.00
25-288 BENT HEEL DRAFT CARRIAGE SHAFTS..88" CRO... 125.00
25-323 HEAVY VIS - A- VIS SHAFTS 85" TO THE CROSS ... 85.00
25-324 CART CROSSPIECE 40" 12.00
25-521 CROSSPIECE W/TENONS 40" 18.95
25-919 EXTRA HEAVY DOUBLE BEND SHAFTS..15/8 X2 ... 85.00
26-052A POLE IRONS DOUBLE BEND 3/8 EYES 49.00
26-220-10 BENT HEEL CART SHAFT WITH CROSS PIECE 1... 75.00
26-220-9 BENT HEEL CART SHAFTS .9 FT. X1 1/2X2 WIT... 96.00
26-283-10 STRAIGHT HEEL CART SHAFT SET..10 FT X 1 1/2... 85.00
26-283-12 CART SHAFTS STRAIGHT HEEL 12'..1 5/8 X 2 1/4 88.90
26-319 DOUBLE BENT HELL CART SHAFTS..76" CROSS ... 120.00
26-523H POLE DOUBLE BEND HORSE SIZE 75.00
26-524H NECK YOKE POLISHED BRASS ENDS 75.00
26-525H ACORN END NECK YOKE WITH LEATHER CENTER 37.00
26-543 HEAVY DOUBLE BEND POLE 75.00
26-563 STRAIGHT POLE 2 1/2 X2 1/2 X 12FT. 85.00
26-563C CARRIAGE POLE STRAIGHT 90.00
26-602-10 STRAIGHT HEEL GIG SHAFTS SET..10 FT X 1 1/2 ... 90.00
26-733H LEATHER CENTER FOR NECK YOKE BLACK HOR... 15.00
26-734-P LEATHER CENTERS NATURAL /PONY 13.65
27-233 42" SWORD END SINGLE TREE 15.00
27-234 SINGLE TREE HOOK END 15.00
27-234-32 HOOK END SINGLE TREE 32" 18.00
27-330-14 SEAT SPRING RISERS 1 1/4 SPRING 15.00
27-436 POLE CIRCLE 22.00
27-440 CIRCLE BAR FOR SHAFTS 39" 14.00
27-440A POLE CIRCLE BAR 18.00
27-442 CIRCLE BAR CART TYPE FITS ON TOP OF SHAFTS 16.00
27-526H DOUBLE TREE HORSE 36" 15.00
27-622 SPLITTER BAR WITH SPOOLS 103.00
27-688 POLE ADAPTER 9.00
27-953 HOOK END SINGLE TREE POLISHED BRASS 57.25
27-980 SINGLE TREE CHAIN TRACES.. BRASS ENDS 53.00
27-982 METAL SINGLE TREE 37" 45.00
28-224 SHAFT TRIM KIT BLACK 12.00
28-227 AXLE CAP 20.00
28-229-24 HICKORY SPRING BARS 24" 15.00
28-229-33 SPRING BAR 33" 13.00
28-229-34 SPRING BAR 34" 14.00
28-231-14 HEAD BLOCK 14" 10.50
28-277 REAR AXLE CAP 15.00
28-527B REACH WOOD BUGGY SIZE 7/8 X 1 X 72 8.00
28-527C REACHWOOD 1 X 1 1/4 X 80 8.00
28-784 SHAFT TRIM KIT LEATHER BLACK 37.50
28-845-H WOOD FENDERS BENT HICKORY 40.00

Page 5



First Shot Photo & Carriage

Item Price List

March 1, 2009

Item Description Price
28-846 WOODEN FENDER BRACKETS, set 43.35
28-979 FANCY END SPRING BAR 22" 17.10
28-979-30 FANCY END SPRING BAR 30" 17.00
28-981-12 FANCY END HEAD BLOCK 12" 15.00
28-981-14 HEAD BLOCK FANCY END 1 1/4 SPRING 12.00
29-217BB WHIP SOCKET WOODEN.. BLACK W/BRASS 12.50
29-233 SWORD END SINGLE TREE 15.00
29-270 BRASS WHIP SOCKET 5.50
29-271-BB WOOD WHIP SOCKET BLACK / BRASS BANDS 12.25
29-271-SS WHIP SOCKET CLAMPS STAINLESS STEEL 4.00
29-271 BN NATURAL WITH BRASS BANDS 11.00
29-271BB WHIP SOCKET BLACK WITH BRASS BANDS 12.50
29-271SB WHIP SOCKET BLACK W/BRASS BANDS 9.00
29-971B WHIP SOCKET BANDS BRASS PR. 3.00
29-A06-5 5 FT. BLACK CARRIAGE WHIP 18.00
29-A06-6 BLACK FIBERGLASS CARRIAGE WHIP 20.00
29-B10 TUBE WHIP SOCKET BRASS 56.63
29-B10-C TUBE WHIP SOCKET CHROME 63.15
30-273 INSIDE KNUCKLES PR. 19.95
30-275 TOP KNUCKLE 12.00
30-275-3 TOP KNUCKLES 3 BOW SET 49.50
30-275-4 TOP KNUCKLES 4 BOW SET 55.00
30-275-6 TOP KNUCKLES SURREY SET 52.00
30-276 TOP BOWS 3 SOCKET SET 67.55
30-276A BUGGY TOP BOW SET 4 BOW 90.00
30-277 SURREY TOP BOW SOCKETS 88.50
30-280 REPAIR SOCKETS 10.80
30-281 SHIFTING RAIL 51.30
30-287 KNUCKLE JOINT CASTINGS 2.50
30-418D TOP PROPS DOUBLE 6.50
30-418S TOP PROP SINGLE 7.50
30-418T TOP PROP TRIPLE 8.50
30-419 TOP NUT BLACK 3.50
30-419B TOP NUT BRASS 2.75
30-419C TOP NUT CHROME 9.30
30-432 TOP SPRINGS PR. 10.00
30-468 TOP PROP BELL 2.50
30-876A 2 1/2 RAMS HORN TOP BOW SOCKET SET 78.00
30-876B 3 1/2 RAMS HORN BOW SET 90.00
31-007 51/2 X 3 CURTAIN WINDOW BLACK 8.00
31-015 CURTAIN WINDOW BLACK FRAME..51/2 X 2 1/2 5.00
31-015B 51/2 X2 1/2 BRASS CURTAIN WINDOW 17.00
31-110 SPLASHER FEASTERS 1.50
31-111-58 DRIVE KNOB 5/8 BLACK ..50 COUNT BAG 25.75
31-111-78 DRIVE KNOB 7/8 NAIL EACH 0.95
31-112-1 KNOB EYELETS #1 1 1/8 EACH 1.50
31-112-8 KNOB EYELET 1 1/4" 1.20
31-232 BENT WOOD TOP BOWS 10.00
31-282 WOOD TOP REST PR. 7.50
31-632 BOWS 1/2 x 2 x 14" 42" wide 35.00
31-635 Bow Clip for 1/2 x 2 bows 1.40
31-636 TIE DOWNS 2.00
31-882 RUBBER TOP REST PR. 7.00
31-A07 OVAL CURTAIN WINDOW BLACK 10.75
31-AO7C OVAL CURTAIN WINDOW CHROME 11.50
32-10127 DURABLE DOT CAP 1/4 LOG CHROME 0.20
32-10128 DURABLE DOT CAP 11/64 LONG 0.20
32-10362-12 DURABLE DOT STUD 3/8 LOG SCREW 0.48
32-10412 DURABLE DOT EYELET CHROME 0.20
32-16205 LIFT ADOT SOCKET CHROME 1.00
32-16206 LIFT ADOT SOCKET LONG PRONG 1.20
32-16318 LIFT ADOT STUD WOOD SCREW 5/8 1.00
32-16362 SINGLE STUD WITH 8-32 BOLT & NUT 0.50
32-16366-12 LIFT ADOT STUD WOOD SCREW 3/8 1.00
32-78322 COMMON SENSE STUD 2 SCREW BASE 0.90
32-78324 COMMON SENSE STUD WOOD SCREW 2.00
32-78325 COMMON SENSE STUD #7 X 5/8 WOOD SCREW 1.25

8:57 AM
03/01/09

Page 6



First Shot Photo & Carriage

Item Price List
March 1, 2009

Item Description Price
32-78326 COMMON SENSE STUD 6-32 BOLT 1.10
32-78332 COMMON SENSE STUD 1.50
32-78403 COMMON SENSE EYELET 0.19
32-78505 COMMON SENSE WASHER 0.12
32-78507 COMMON SENSE CLINCH PLATE 0.15
35-414-R 6" CHAINETTE FRINGE RED, yd. 7.95
35-560 CRUSHED GRAIN TOPPING BLACK WITH GRAY ... 16.45
36-544-35 FIBERGLASS BUGGY SEAT 35" WIDE 165.00
43-255-2 BRAKE ROD ENDS 1/2" TREAD 5.00
A-431 CAST SPRING BLOCK 1 1/4 AXLE 12.00
A-432 1"BUGGY WRENCH 12.00
A4059 BEARING 7/8 SMALL 12.00
AB075 BEARING 7/8 LARGE 12.00
AXLE CLIPS 0.00
AXLE CLIPS:SPRING 1/2 ROU... 1/2 ROUND SPRING CLIP 5/16 5.00
AXLE CLIPS:SPRING CLIPS 1/... 1/2 ROUND SPRING CLIP 3/8.. 5.00
BOOKS 0.00
BOOKS:A HISTORICAL GUIDE... A HISTORICAL GUIDE TO WAGON HARDWARE &... 28.50
BOOKS:ABBOTT & DOWINING... ABBOTT & DOWNINGS & CO CATALOG 14.00
BOOKS:AMERICAN CARRIAG...  AMERICAN CARRIAGES SLEIGH & SULKIES 19.50
BOOKS:ANTIQUE AUTO LEAT... ANTIQUE AUTO LEATHER 17.50
BOOKS:ANTIQUE AUTO TOP ...  ANTIQUE AUTO TOP WORK 17.50
BOOKS:ANTIQUE AUTO WOO... ANTIQUE AUTO WOOD WORK 17.50
BOOKS:BRISTOL WAGON & C... BRISTOL WAGON & CARRIAGE 19.50
BOOKS:CARRIAGE MAKERS ... CARRIAGE MAKERS OF ROCKINHAM CO. VIRGIN... 18.00
BOOKS:CARRIAGE TERMINO... = CARRIAGE TERMINOLOGY- A HISTORICAL DICTI... 85.00
BOOKS:COMPETITION CARRI... ~COMPETITION CARRIAGE 30.00
BOOKS:CONESTOGA WAGO... CONESTOGA WAGON-MASTERPIECE OF THE B... 20.00
BOOKS:CONESTOGA WAGO... 1/8 SCALE CONESTOGA WAGON PLAN 26.63
BOOKS:DRAFT BOOK OF CEN... DRAFT BOOK OF CENTENNIAL CARRIAGES 20.00
BOOKS:DRIVING AHARNESS ... DRIVING A HARNESS HORSE BY SALLIE WALDR... 41.00
BOOKS:DRIVING HORSE DRA... DRIVING HORSE DRAWN CARRIAGES FOR PLEA... 21.95
BOOKS:G.D. COOK &CO. G.D. COOK & CO. 21.95
BOOKS:HISTORICAL GUIDE T...  HISTORICAL GUIDE TO WAGON HARDWARE & B... 28.50
BOOKS:HORSE DRAWN CAR... HORSE DRAWN CARRIAGES 26.75
BOOKS:HORSE DRAWN COM... HORSE DRAWN COMMERCIAL VEHICLES.. BY D... 22.95
BOOKS:HORSE DRAWN CRRI... HORSE DAWN CARRIAGE CONSTRUCTION 26.75
BOOKS:HORSE DRAWN SLEI... ~ HORSE DRAWN SLEIGHS BY SUSAN GREEN 36.95
BOOKS:JOHN DEERE WAGO... JOHN DEERE BUGGIES & WAGONS..BY RALPH H... 23.00
BOOKS:MOSEMAN'S ILLUSTR... MOSEMAN'S ILLUSTRATED CATALOG 28.50
BOOKS:PRACTICAL CARRIAG... PRACTICAL CARRIAGE & WAGON PAINTING BY ... 17.25
BOOKS:PRACTICAL CARRIAG... PRACTICAL CARRIAGE BUILDING..BY M.T. RICH... 32.95
BOOKS:THE CARRIAGE MON...  THE CARRIAGE MONTHLY 20.00
BOOKS:THE CARRIAGE MON...  THE CARRIAGE MONTHLY- APR. 20.00
BOOKS:THE CARRIAGE MON...  THE CARRIAGE MONTHLY- AUG. 21.50
BOOKS:THE COACHMAKERS ...  THE COACHMAKERS ILL. HANDBOOK 32.95
BOOKS:THE WHEELWRIGHT...  THE WHEELWRIGHTS TRADE.. BY JOHN THOMP... 22.00
BOOKS:WHEELMAKING WHEELMAKING by THE CARRIAGE MUSEUM OF ... 37.50
BOOKS:WHEELS WHEELS W... WHEELS WHEELS WAGONS & MORE..RESTORA... 25.00
BOOKS:WHEELS, WHEELS, ... WHEELS, WHEELS, WAGONS & MORE..BY MELVI... 25.00
BRAKE PARTS 0.00
BRAKE PARTS:10" BRAKE SET 10" BRAKE SET 337.50
BRAKE PARTS:43-PK1 HYDRAULIC BRAKE LOCK 35.00
BRAKE PARTS:8" DRUM AND ... 8" DRUM AND BACK PLATE FOR 1 1/8 AXLE 95.00
BRAKE PARTS:8" PABRAKE S... 8" PA BRAKE SHOE 11.25
BRAKE PARTS:BRAKE LINE 40"  BRAKE LINE 40" 8.00
BRAKE PARTS:BRAKE SHOE BRAKE SHOE OH 8" 10.50
BRAKE PARTS:MASTER CYLI... MASTER CYLINDER FRONT COMPLETE 102.75
BUCKBOARD 1/8 SCALE BUCKBOARD 235.00
CA-13 20" 1/3 SCALE CANNON WHEEL 175.00
CAMERA 0.00
CB 1/2 PLAIN WASHER 1/2 PLAIN WASHER 2.50
CB 1/2 SQ. NUT 1/2 SQ. NUT 0.15
CB1/2X41/2C 1/2 X 4 1/2 PLAIN CARRIAGE BOLT 0.75
CB1/2X8 1/2 X 8 PLAIN CARRIAGE BOLT 2.50
CB 1/4 SQ NUT 1/4 SQ NUT 0.05
CB 1/4 washer plain 1/4 WASHER PLAIN 2.50

8:57 AM
03/01/09

Page 7



First Shot Photo & Carriage 8:57 AM

Item Price List 03/01/09
March 1, 2009

Item Description Price
CB1/4x11/2CBOLT 1/4 X 1 1/2 CARRIAGE BOLT 0.20
CB 1/4 X 1 1/2 RIB NECK 1/4 X 1 1/2 RIB NECK CARRIAGE BOLT 0.52
CB1/4X11/2SB 1/4 X 1 1/2 STEP BOLT 0.32
CB1/4X1C 1/4 X 1 CARRIAGE BOLT 0.09
CB1/4X21/2 1/4 X 2 1/2 CARRIAGE BOLT 0.40
CB1/4X21/2RN 1/4 X 2 1/2 RIB NECK CARRIAGE BOLT 0.74
CB1/4X2RN 1/4 X 2 RIB NECK CARRIAGE BOLT 0.56
CB1/4X2C 1/4 X 2 PLAIN CARRIAGE BOLT 0.12
CB1/4X31/2C 1/4 X 3 1/2 PLAIN CARRIAGE BOLT 0.16
CB1/4 X3RN 1/4 X 3 RIB NECK CARRIAGE BOLT 0.98
CB1/4 X 3C 1/4 X 3 PLAIN CARRIAGE BOLT 0.15
CB 1/4 X 4C 1/4 X 4 PLAIN CARRIAGE BOLT 0.18
CB 19-260-14 1/4 WASHER PER LB. 2.00
CB 19-260-36 3/16 WASHER PER LB. 2.80
CB 19-260-38 3/8 WASHER PER LB. 2.50
CB 19-260-56 5/16 WASHER PER LB. 2.50
CB 3/16 SQ NUT 100CT. 3/16 SQUARE NUT 100 COUNT BOX 3.00
CB 3/16 SQ. NUT 3/16 SQUARE NUT 0.05
CB3/16x 1 3/16 X 1 CARRIAGE BOLT 0.12
CB3/16x11/2 x 100 3/16 x 1 1/2 100 COUNT BOX 7.50
CB 3/16 X 1 1/2C 3/16 X 1 1/2 PLAIN CARRIAGE BOLT 0.14
CB3/16x2 100 CT 3/16 X 2 CARRIAGE BOLT 100 COUNT BOX 8.80
CB3/16 X2 1/2C 3/16 X 2 1/2 CARRIAGE BOLT 0.105
CB 3/16 X 2C 3/16 X 2 PLAIN CARRIAGE BOLT 0.14
CB 3/16 X 3C 3/16 X 3 PLAIN CARRIAGE BOLT 0.15
CB 3/8 LOCK NUT 3/8 LOCK NUT 5.00
CB 3/8 SQ NUT 3/8 SQ NUT 0.10
CB 3/8 SQ NUT100 COUNT SQUARE NUT 100 COUNT BOX 3/8 6.10
CB3/8X21/2SB 3/8 X2 1/2 STEP BOLT 1" HEAD 0.45
CB3/8X21/2C 3/8 X2 1/2 PLAIN CARRIAGE BOLT 0.30
CB3/8X2RN 3/8 X 2 RIB NECK CARRIAGE BOLT 0.60
CB3/8X2C 3/8 X 2 PLAIN CARRIAGE BOLT 0.27
CB3/8X31/2 3/8 X 3 1/2 CARRIAGE BOLT 0.40
CB 3/8X3C 3/8 X 3 PLAIN CARRIAGE BOLT 0.30
CB3/8X41/2C 3/8 X4 1/2 PLAIN CARRIAGE BOLT 0.45
CB 3/8 X 4C 3/8 X 4 PLAIN CARRIAGE BOLT 0.39
CB3/8X51/2C 3/8 X 5 1/2 PLAIN CARRIAGE BOLT 0.45
CB 3/8 X5C 3/8 X 5 PLAIN CARRIAGE BOLT 0.00
CB 3/8 X6C 3/8 X 6 PLAIN CARRIAGE BOLT 0.49
CB 5/16 lock nut 5/16 LOCK NUT 5.00
CB 5/16 SQ NUT 5/16 SQUARE NUT 0.10
CB 5/16 SQ NUT 100 COUNT 5... SQUARE NUT 100 COUNT 5/16 4.20
CB 5/16 WASHERS 5/16 PLAIN WASHERS 0.02
CB5/16 X1 1/2 5/16 X 1 1/2 PLAIN CARRIAGE BOLT 0.16
CB5/16 X1C 5/16 X 1 CARRIAGE BOLT 0.11
CB5/16 X 1C 5/16 X 1 PLAIN CARRIAGE BOLT 0.15
CB5/16 X2 1/2C 5/16 X 2 1/2 PLAIN CARRIAGE BOLT 0.21
CB5/16 X 2C 5/16 X 2 PLAIN CARRIAGE BOLT 0.21
CB5/16 X3 1/2C 5/16 X 3 1/2 PLAIN CARRIAGE BOLT 0.25
CB 5/16 X 3 SB 5/16 X 3 STEP BOLT 1" HEAD 1.14
CB 5/16 X 3C 5/16 X 3 PLAIN CARRIAGE BOLT 0.24
CB 5/16 X4 1/2C 5/16 x 4 1/2 carriage bolt 0.40
CB 5/16 X 4C 5/16 X 4 PLAIN CARRIAGE BOLT 0.30
CB 5/16 X 5C 5/16 X 5 PLAIN CARRIAGE BOLT 0.31
CB 5/16 X 6C 5/16 X 6 PLAIN CARRIAGE BOLT 0.36
CB 7/16 SQ. NUT 7/16 SQ. NUT 0.15
CB7/16x21/2 7/16 x 2 1/2 plain carriage bolt 0.50
CB7/16 X 5C 7/16 X 5 PLAIN CARRIAGE BOLT 0.84
CHROME BED RAIL BED RAIL 7/8 STAINLESS TUBING 7.50
CHROME BED RAIL:N-312B CHROME BRACKET FITS 7/8 TUBING 75.00
CHROME BED RAIL:N-331B CHROME ACORN END FITS 7/8 TUBING 17.50
CHROME SEAT RAIL CHROME SEAT RAIL SET 7/8 TUBING 500.00
Clasified Ads 200 Web site Ad 20.00
Consignment 300 Consignment sales 100.00
Dean Wagons Verna Dean Est. 0.00
DOUBLE TREE 40" DOUBLE TREE FOR BUGGY 40" 24.00
EBAY 0.00

Page 8



First Shot Photo & Carriage 8:57 AM

Item Price List
March 1, 2009

03/01/09

Item Description Price
EBAY:CAMERA COLLECTION B & J PRESS CAMERA 0.00
FA-12 11/2 SPOKE X 1 1/2 FELLOE.. FLAT TOP RUBB... 185.00
Farm Lease Grasseing 0.00
FREIGHT SHIPPING 251.00
H-195 POLE WITH NECK YOKE KIT 255.00
H-206B POLE TIP STEEL 1 1/8 X 5 18.00
H-207 NECK YOKE TIPS 7/8 X 3 1/2 BRASS UNPOLISHE... 35.00
H-209B SEAT HANGER.. FITS 1" SIDE BOARDS 1/4 SPRIN... 5.00
H-290B STEEL SEAT HANGER 5.00
HARNESS PARTS 0.00
HARNESS PARTS:COLLARS COLLARS 19" WORK STYLE 85.00
HARNESS PARTS:J-310 HOLD BACK STRAPS NYLON PR. 18.00
HARNESS PARTS:J-313 NECK YOKE STRAP 1 1/4 X 45 40.00
HITCH WAGON GEAR 0.00
HITCH WAGON GEAR:A-424 2" SQ. STEEL AXLE 72" OVER ALL 475.00
HITCH WAGON GEAR:FIFTH ... 30" FIFTH WHEEL ASSEMBLY KIT 200.00
HITCH WAGON GEAR:H600 30" FIFTH WHEEL 1,150.00
HITCH WAGON GEAR:N-317B STAY CHAIN HOOK 18.00
HITCH WAGON GEAR:N-330A 2 1/2" 3 WAY SPRING 500.00
HITCH WAGON GEAR:N-334 2 1/2 STEEL SPRING BLOCK 25.00
INSUF CHECK INSUF CHECK RETURNED 0.00
L-187 BUGGY LAMP OIL PR. 475.00
L-190 LAMP HOLDER 90 DEGREE BEND 18.00
LEATHER UPHOLSTERY LEATHER UPHOLSTERY MATERIAL 250.00
Mail Order FOB 500 Sales drop shipped 0.00
MC-SURREY REACH SURREY REACH WITH BRACES 65.00
MEALS EXPENSE 0.00
MODEL WAGON 0.00
MODEL WAGON:BUCKBOARD... BUCKBOARD 1/8 SCALE 100.00
MODEL WAGON:CHUCK WAG... 1/8 SCALE CHUCK WAGON 700.00
MODEL WAGON:CONCORD S... CONCORD STAGECOACH 1/8 SCALE 375.00
MODEL WAGON:CONESTOG... CONESTOGA WAGON 1/8 SCALE MODEL 375.00
MODEL WAGON:PRAIRIE SC... PRAIRIE SCHOONER 1/8 SCALE MODEL 375.00
MODEL WAGON:STAGECOACH CONCORD STAGECOACH 1/8 SCALE 375.00
MOTOR FREIGHT FREIGHT 251.00
OVER NIGHT EXPENSE HOTEL OR RV EXPENSE 0.00
PAINT AUTOMOTIVE ENAMEL 0.00
PC-231 HOLD BACK 1 1/4 4.00
Pecan Pecan Sale 0.00
Pecans Pecan Crop 0.00
PLANS 0.00
PLANS:BAKERS CART BAKERS CART PLAN 1/8 SCALE 18.50
PLANS:BUCKBOARD PLAN BUCKBOARD PLAN 1/8 SCALE 19.20
PLANS:CANOPY TOP SURREY CANOPY TOP SURREY PLAN 1/8 SCALE 23.00
PLANS:CHUCKWAGON PLAN CHUCKWAGON PLAN 3 SHEETS 37.00
PLANS:CONCORD STAGECO... STAGECOACH PLAN 4 SHEETS 64.00
PLANS:CONSETOGA WAGON CONESTOGA WAGON PLAN 1/8 SCALE 27.00
PLANS:HEARSE 1/12 SCALE HEARSE PLAN 1/12 SCALE 20.37
PLANS:ROYAL MAIL COACH 0.00
PLANS:VICTORIA 1/12 SCALE VICTORIA PLAN 1/12 SCALE 16.00
PLANS:WHITE CHAPLE CART ... WHITE CHAPEL CART 1/8 SCALE 20.37
PN804 BRAKE SHOE OHIO 8" 9.75
REED TRIM 1/2 HALF ROUND REED TRIM 1/2 0.80
REED TRIM 3/8 REED TRIM 3/8 0.80
Rental 400 Wagon & Buggy Rental 0.00
Rental 400:DEPOSIT 100.00
Restoration 100 Shop Labor per man hour 25.00
Restoration 100:1 1/2 - 2 WHEEL REPLACE SPOKE ON 1 1/2 - 2 WHEEL 15.00
Restoration 100:2 1/2 WHEEL REPLACE SPOKE ON 2 1/2 WHEEL 18.00
Restoration 100:3" SPOKE SHO... REPLACE SPOKE 2 7/8 & 3" 18.00
Restoration 100:7/8 1 1/4 WHEEL =~ REPLACE SPOKE ON 7/8 - 1 1/4 WHEEL 5.50
Restoration 100:CUSTOM HUB WOODEN HUB 4-6INCH 90.00
Restoration 100:CUSTOM HUB ...  CUSTOM WAGON HUB 6-91/2 185.00
Restoration 100:FELLOES 1 1/2... REPLACE FELLOES 1 1/2 -2 WHEEL 85.00
Restoration 100:FELLOES 2 1/2 REPLACE FELLOES 2 1/2 WHEEL 110.00
Restoration 100:FELLOES 3 REPLACE FELLOES 3 150.00
Restoration 100:FELLOES 7/8-1 ... REPLACE FELLOES ON 7/8 - 1 1/4 WHEEL 45.00

Page 9



First Shot Photo & Carriage
Item Price List

March 1, 2009

Item Description Price

Restoration 100:RUBBER TIRE ...  RUBBER TIRE SET 1 1/2 -2 25.00
Restoration 100:RUBBER TIRE ...  RUBBER TIRE SET 2 1/2 30.00
Restoration 100:RUBBER TIRE ...  RUBBER TIRE SET 7/8 - 1 1/4 15.00
Restoration 100:SHOP LABOR SHOP LABORER 18.00
Restoration 100:TIRE SIZE & SE... TIRE SIZE & SET 11/2-2 20.00
Restoration 100:TIRE SIZE & SE... TIRE SIZE & SET 2 1/2 25.00
Restoration 100:TIRE SIZE & SE... TIRE SIZE & SET 3 30.00
Restoration 100:TIRE SIZE & SE... TIRE SIZE & SET 7/8 - 1 1/4 10.00
RESTORATION.01 BOY SCOUT PROJECT

Retail Sales new 600 Retail sales Gonzales 0.00
RUBBER TIRES 0.00
RUBBER TIRES OLD STYLE 0.00
RUBBER TIRES OLD STYLE:1"... 1" ROUND RUBBER WHITE 3.11
RUBBER TIRES OLD STYLE:1... 1 1/4 ROUND RUBBER CENTER HOLE 3.25
RUBBER TIRES OLD STYLE:1"... 1" OLD STYLE RUBBER 1.50
RUBBER TIRES OLD STYLE:1/... 1/2" ROUND RUBBER TIRE 1.10
RUBBER TIRES OLD STYLE:5/... 5/16 ROUND RUBBER (NO CENTER HOLE) 0.90
RUBBER TIRES OLD STYLE:5/... 5/8 ROUND RUBBER ..1 HOLE IN CENTER 1.50
RUBBER TIRES:#10 1 1/4 FLA... 1 1/4 FLAT TOP RUBBER 2.75
RUBBER TIRES:#15 7/8 NS 7/8 RUBBER TIRE 1.50
RUBBER TIRES:#20 1"FLAT T... 1" FLAT TOP RUBBER #20 1.75
RUBBER TIRES:#25 1 1/2FLA... 1 1/2 FLAT TOP RUBBER #25 3.95
RUBBER TIRES:#30 1" N.S. 1" #30 N.S. RUBBER TIRE 1.85
RUBBER TIRES:#35 2" FLAT T...  # 352" FLAT TOP RUBBER 6.50
RUBBER TIRES:#40 1 1/2 NS #40 1 1/2 NS ROUND TOP 3.00
RUBBER TIRES:#45 2 1/2" 2 1/2" FLAT TOP RUBBER 12' PIECE 63.63
RUBBER TIRES:#55 1 1/8 FLAT 11/8 X 9/16 FLAT TOP 2.20
RUBBER TIRES:#60 1 1/8 X 9/16  #60 1 1/8 X 9/16 ROUND TOP 1.85
RUBBER TIRES:#NS 1 1/4 1 1/4 ROUND TOP RUBBER 2.75
RUBBER TIRES:1" ROUND TO... 1" ROUND TOP RUBBER 2.50
RUBBER TIRES:24-476 TIRE WIRE REGULAR SIZE 16FT 0.75
RUBBER TIRES:24-479 TIRE WIRE FOR 2 & 2 1/2 RUBBER 1.25
RUBBER TIRES:RUBBER TIRE... RUBBER TIRE MACHINE 685.00
S-166 SHAFT KIT HORSE SIZE 125.00
S-166DS SHAFT KIT DRAFT SIZE 175.00
sales tax paid sales tax 0.00
SHAFT KIT DRAFT HORSE SHAFT KIT DRAFT HORSE 215.00
Shipping Freight charges 0.00
Shipping:36" 1 1/4 WHEEL SHIPPING 2 36" 1 1/4 WHEEL 68.10
Shipping:DRAFT SHAFT KIT DRAFT SHAFT KIT UPS 75.00
Shipping:FELLOES SET OF 8 8 PIECES FELLOES SET 31.00
Shipping:FLAT RATE BOX US ... US PRIORITY MAIL FLAT RATE BOX 8.00
Shipping:FLAT RATE PRIORIT... HANDLING SHIPPING USPS FLAT RATE BOX 9.00
Shipping:RUBBER TIRE MACHI... SHIPPING ON RUBBER TIRE MACHINE 110.00
Shipping:S&H 0.00
Shipping:SEAT SPRING 2 SEAT SPRING 24# 16.08
Shipping:SHIPING WOOD TOP ... TOP BOWS OVERSIZE 17.00
Shipping:SHIPPING BOW SETS SHIPPING TOP BOW SETS 12.00
Shipping:Shipping CANADA PRIORITY FLAT RATE BOX TO CANADA 25.00
T-126B BUGGY SEAT BRACKETS 30.00
TEE BOLTS 5/16 X 1 TEE BOLTS FOR DASH BOARD 2.00
TENON CUTTER 0.00
TIRE SIZE & SET 4" TIRE SET 50.00
TIRE STEEL 0.00
TIRE STEEL:1 1/4 ROUND ED... 11/4 X 5/16 ROUND EDGE 0.00
TIRE STEEL:1 1/4 TIRE CHAN... 1 1/4 CHANNEL 20 FT. 25.00
TIRE STEEL:1" CHANNEL 1" CHANNEL 1"X 1/2 1.62
TOP WINDOWS & BOOWS 0.00
TOP WINDOWS & BOOWS:T-... 3 1/2BOW SOCKET TOP 950.00
TOP WINDOWS & BOOWS:T-... FRINGE TOP POST 36" TALL 18.00
TOP WINDOWS & BOOWS:T-...  TOP NUT WASHER LEATHER 0.30
TOP WINDOWS & BOOWS:TO... TOP BOW 10.00
TRAVEL EXPENSE FLIGHT-HOTEL-MEALS PRESUME 0.00
TRIM MAT. OVAL STEEL 1/2 X 1/4 X 8' 14.00
TRUCK EXPENSE TRUCK EXPENSE 51.75
TRUCK EXPENSE:TRUCK & T... 1.00
UPS OVER SIZE 0.00

8:57 AM
03/01/09

Page 10



First Shot Photo & Carriage 8:57 AM

Item Price List 03/01/09
March 1, 2009

Item Description Price
W-437 WAGON SEAT WITH BLOCKS 38" 150.00
W-437A SEAT BRACKET IRONS FOR WAGON SEAT 28.00
W-437A BL SEAT BLOCKS SET 16.00
W-437B CORNER SEAT BRACES 2.50
W-438B WAGON ROLLER RUB IRON 15.00
W-439 IRON BODY LOOP PRE-FORMED 25.00
W-447ST 14" STEP 18.00
W437 WAGON SEAT WITH LAZY BACK & SEAT BLOCKS 195.00
WAGON HUBS 0.00
WAGON PARTS 0.00
WAGON PARTS:BARREL FAU... ~WOODEN FAUCET 6" FITS 5-30 GAL 20.00
WAGON PARTS:LAZY BACK I... LAZY BACK IRONS 28.00
WAGON PARTS:LEATHER W... LEATHER WASHERS 5.00
WAGON PARTS:LENSEED OIL 1 GAL. LINSEED OIL 12.49
WAGON PARTS:M-REACH SURREY REACHES AND BRACES 60.00
WAGON PARTS:N-317C STAY CHAIN STEEL 30" 18.00
WAGON PARTS:PC-030 BRAKE SHOE HOLDER PR. 12" X 4" SHOE 32.00
WAGON PARTS:PC-370 SEAT RAIL HOLDER 5/8 8.00
WAGON PARTS:PC-380 SEAT RAIL HOLDER 1" 8.00
WAGON PARTS:PC-397 SIDE BOARD BRACE 12" 19.00
WAGON PARTS:SHAFT PIN ANTI-RATTLE SHAFT PIN 7.50
WAGON PARTS:SURREY REA... SURREY REACH AND BRACES SET 65.00
WAGON PARTS:W-437 BLOCKS SEAT BLOCKS SET 18.00
WAGON PARTS:WAGON BOW WAGON BOWS 1/2 X2 X 14' 30.00
WAGON PARTS:WAGON POLE  POLE BLANK ASH 120.00
WAGON PARTS:WAGON SHE... WAGON SHEET 185.00
WAGON PARTS:WAGON SHE... WAGON SHEET HOOK 2.00
WAGON PARTS:WATCO STAIN 1 GAL. WATCO STAIN NATURAL 39.95
WAGON PARTS:WOODEN BA... WOODEN BARREL 10 GAL. 150.00
WAGON PARTS:WOODEN BA...  WOODENKEG 5 GAL. ..171/2H X 121/2B X 10 ... 160.00
WAGON PARTS:WP12.35 3 1/2x 3 WAGON POLE BLANK 130.00
WHEEL CYL. 1" WHEEL CYLINDER 1" FOR PA & OH 14.95
WHEEL CYLENDER 1" WHEEL CYL. 1" FOR PA. OR OH. 14.95
WHEELS 0.00
WHEELS:1-G STAINLESS HUB CAP FOR #1 HUB 18.00
WHEELS:1 1/2 CHANNEL 11/2X1/2X20 34.50
WHEELS:1 1/8 ROUND EDGE ... 1 1/8 ROUND EDGE TIRE STEEL 10.50
WHEELS:1" CHANNEL 1 X 1/2 CHANNEL 20.00
WHEELS:2 1/2 X 1/2 X 57 TIRE 21/2 X 1/2 X 57 STEEL TIRE 60.00
WHEELS:2 X 1/2 CHANNEL 2X1/2X20 45.00
WHEELS:20 X 1" STEEL TIRE 20" X 1 STEEL TIRE WHEEL..BOLTED HUB 95.00
WHEELS:24 X 1" STEEL TIRE 24 X 1 STEEL TIRE WHEEL..BOLTED HUB 95.00
WHEELS:36 X 1 1/2 FLAT TOP ... 36 X 1 1/2 FLAT TOP RUBBER.. 1 1/4 AXLE 235.00
WHEELS:4 X 5/8 X 34 TIRE 4 X 5/8 X 34 STEEL TIRE 125.00
WHEELS:7/8 CHANNEL 7/8 CHANNEL 1.20
WHEELS:BOLTED HUB WHEE... 1 1/4 SPOKE 1 1/4 RIM 40" RUBBER TIRE 235.00
WHEELS:BOLTED HUB WHEE... 1 1/4 SPOKE 1 1/4 RIM 44" RUBBER TIRE 235.00
WHEELS:CA-1 57" HICKORY CANNON WHEEL ..2 3/4" X3 1/4"F... 725.00
WHEELS:CA-14 CANNON WHEELS 15"..1" X 1 1/4" FELLOES 3/4" ... 145.00
WHEELS:CA-34 42" CANNON WHEEL 14 SPOKE.. 2" X21/2 FEL... 500.00
WHEELS:CA-78 50" CANNON WHEEL 2 1/2 X 2 3/4 FELLOES WITH... 550.00
WHEELS:FLUSH HUB 30" 30" X 1" FLAT TOP RUBBER 1 1/8 SPOKE 128.00
WHEELS:HUB-BLANK 9 X 15 WOOD HUB BLANK MAPLE 80.00
WHEELS:PC-38 PACK CARRIAGE 38" WHEEL 12 SPOKES 2 X 2 F... 335.00
WHEELS:PR-42 42" PRAIRIE CANNON WHEELS..2 X 2 1/2 FELLOE... 375.00
WHEELS:PUSH CART WHEELS = PUSH CART WHEEL KIT..2 30" WHEELS AND AXL... 275.00
WHEELS:SA-14 SARVEN WHEEL 1 1/4 SPOKE 1 1/8 STEEL TIRE 145.00
WHEELS:SA18 SARVEN WHEELS 175.00
WHEELS:SARVIN WHEEL #3 1 1/4 SPOKE 1 1/4 RIM WITH RUBBER TIRE 180.00
WHEELS:USED WAGON WHE... YARD ART WHEELS 75.00
WHEELS:W-217 #4 HUB, 2" SPOKE, 2 1/2 RUBBER 700.00
WHEELS:WAGON WHEEL NU...  WAGON WHEEL NUTS 30.00
WHEELWRIGHT TOOLS 0.00
WHEELWRIGHT TOOLS:PC-262 ADJUSTABLE TENON CUTTER 9/16-7/8 175.00
WHEELWRIGHT TOOLS:PC-285 WHEELWRIGHT TOOL SET..TENON CUTTER, TR... 195.00
Y-608 HICKORY DOUBLE TREE 40" 95.00
Y-608A HICKORY DOUBLE TREE 44" 110.00

Page 11



First Shot Photo & Carriage 8:57 AM

Item Price List 03/01/09
March 1, 2009

Item Description Price
Y-608C SINGLE TREE CLEVIS 9.00
Y-608F STAY CHAIN CLEVIS 7.00
Y-609 NECK YOKE BLANK 18.00
Y-609-40 HICKORY NECK YOKE 40" 40.00
Y-609-R NECK YOKE END RING 5.00
Y-610 SINGLE TREE DRAFT HORSE 27.50
Y-610-30 WAGON SINGLE TREE 30" LONG 27.50
Y-611 TONGUE IRON 18.00
Y-613 TONGUE HOOK 22.00
Y-908D HICKORY DOUBLE TREE BLANK 40 20.00
Y 608A HICKORY NECK YOKE 44" 50.00
Y608D BLANK DOUBLE TREE 22.00

Page 12



